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22 2 30X 280,940 378,189 A97,249
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201 et 14,440 19,689 A5,249
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O=eABDYAANE 2Y+Y
70,0003 x5H +23| 700
OZ&RARe 23+ 70,0003 x 128 13| 840
Os2AZ2 & HiEd=2+ =& HA 100,000& *22] 200
Oo=sga1=s 28 EES MH 1,000
02 2324l 11,700 14,100 A 2,400
Os2AZ2E HIE=2 HIIRS S 232
350,000& »12& 4,200
OsAZ2F HE=2x 223 W 3,500
O8+9 NEAHAN SXNE= 400,000 =104 4,000
401 Al HI L 2 THHI 166,500 58,500 108,000
01 A& HI 166,500 58,500 108,000
OZ1= FHUXNAE WHA 25,000
O8 =2 XNEANMAC HEIAL 94,000
OAHAItH (2™ ) &lH 3,500,000 44 14,000
OANATH(6EHE) &4 L Wil
10,000,000 *8H 80,000
OsAZ T HIE=2= ANE=E RAES 10,000
O=sAZE HEdE=+ A4 500,000& x123] 6,000
OZxolitHdl 22020 = tdEH & FHHl
500,000 #2304 2 11,500
©2tE0l OIS0 HelxZd Avg CIXel JHE
2o 20,000
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401 Al HIZ 201 8] 100,000 300,000 A 200,000
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01 AP 22| d| 17,300 15,900 1,400
0NN 2Y2+Y
100,000 x14H 73| 9,800
oxe=210= 1,500, 000& 53| 7,500
203 ¥ 2 =& 2,000 2,000 0]
03 Al =& 2 5 X H| 2,000 2,000 0
o2 HE gdR2FX 20,000 «10¥H 103l 2,000
401 AlEHIZL £ 0HY| 412,000 433,054 A 21,054
01 Al&H| 409,000 429,000 A 20,000
O=ZCIHE (MEH) 2H(HE) 249
200,000,000 « 1Al 200,000
oRmeNE ZH (W) 89
20,000,000 x 14! 20,000
OHIAIDJIBIXR Y EXNEAEEI 29
130,000,000 =14l 130,000
OZAHEEEHES M H(UPIS) DBAE HH 24
22,000,000 x 14! 22,000
OZAHEEEHSHH(UPIS) 2HEHl SR
=29 17,000,000 = 1Al 17,000
OADIEAE S2AIE < 20,000,000 * 14! 20,000
03 Al& 201 Y| 3,000 4,054 AN 1,054
OA&E 0] 3,000
S AIAIE A 4,757,000 0 4,757,000
g 100,000
& 200,000
= 4,457,000
SCAHEREW S2HHIZBAH 622,000 0 622,000
201 et 20,000 0 20,000
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01 At 22l 3,000 0 3,000
OXotxE 8od MJ| 2 A
250,000& 12 3,000
02 2324l 12,000 0 12,000
OsZEXotHE AIEEHRALH ¥ B3L=
550,000& »12& 6,600
OZANAHEEZZ JH28 &IIR3
300,000& »12& 3,600
OZANHEEZ BHa £€= 150,000& 122 1,800
HAEDOIE~JIEAHEZ2 S 2(B21-1088 )& 1,800,000 0 1,800,000
401 Al HI YL =2 TH I 1,800,000 0 1,800,000
01 A& HI 1,800,000 0 1,800,000
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SAHE S OHE S A 1,685,000 0 1,685,000
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< 100,000
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301 LEIEN = 4,920 0 4,920
- 1,920
= 3,000
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OSSNEZNF SAHY 38 & IsFA
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02 It HAAMAEE 30,000 0 30,000
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o2 E3ME 2208 29 20,000
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307 2iz2to| & 1,410,000 1,410,000 0
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s 29,147
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OHNL-& DEBXA Q15
73,2803 x5 x23|x51H 37,373
= 8,226
s 29,147
SHEHA WSIHE =258 K& 14,000 14,000 0
< 7,000
s 7,000
307 21201 A 14,000 14,000 0
< 7,000
s 7,000
02 IZtEHAHE L 14,000 14,000 0
OZUHA WSHE =2 XA 14,000
< 7,000
e 7,000
SHEHA WSIHE 23 X2 74,230 72,530 1,700
307 g1+l & 74,230 72,530 1,700
02 IZtE M AHE X 74,230 72,530 1,700
OZUHA nEIHE I XA 74,230
BAIRE HEZM =2 N2 17,842 22,500 A 4,658
< 2,842
[ia 15,000
307 21201 A 17,842 22,500 AN 4,658
< 2,842
e 15,000
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OHANR= IHEZN ===2 X& 17,842
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fia 15,000
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< 100,000
307 21201 A 100,000 900,000 800,000
< 100,000
09 2HAHAEXS 100,000 900,000 800,000
OsHEHA HEXAS 100,000
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DEHSEHA 2Y 360,000 294,000 66,000
s 180,000
< 90,000
i 90,000
307 glz2tol & 360,000 294,000 66,000
s 180,000
< 90,000
s 90,000
09 2+HAHEEXS 360,000 294,000 66,000
OLNEHE=EA 2¢ 360,000
s 180,000
< 90,000
s 90,000
SHEHA HLARZH =443 150,000 170,000 220,000
307 21201 A 150,000 170,000 220,000
09 2+FAHEXS 150,000 170,000 20,000
OsHEHA HLRSH 424 150,000
SZEE 1SR2Y M (HAE)[DEZ 2 HA] 140,000 0 140,000
s 70,000
s 70,000
101 @14 dl 91,386 0 91,386
s 45,693
s 45,693
04 JIZHHZ2XNHEE S 91,386 0 91,386
Q@28 JIAL 21 Al 91,386
ooz 111,600 282 12 »2H 74,996
s 37,498
s 37,498
@SS, 6,600
s 3,300
e 3,300
o4l 2gx 9,790
s 4,895
s 4,895
201 Let249] 48,614 0 48,614
s 24,307
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01 At 22l 20,000 0 20,000
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s 10,000




M SANSH
M DsHE A
Sl 24N X CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o 10,000
02 =224l 28,614 0 28,614
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NEANES 2el 1,749,868 1,279,277 470,591
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101 124 dl 32,976 12,557 20,419
4 JI2ZtHZ2XREES 32,976 12,557 20,419
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201 Let24d] 22,000 18,000 4,000
01 At 2teltl 14,500 9,000 5,500
OMZ (HIZ)bl 2,000,000 *3H 2 6,000
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o 2,000
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02 =24l 7,500 9,000 A 1,500
OHDIE ¥ 2H0olegs 2ne =
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14,000 *3890H 2 x 123 65,352
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01 A& HI 245,000 87,500 157,500
OHASAHUHIIY E= 1,500,000 * 1004 2 15,000
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10,000,000 *1J4 2 10,000
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12JIEtRE3 264,000 138,000 126,000
O=L& 22885 AZANY RE= 264,000
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01 A& Bl , 102,540 895,900 206,640
OwsSdsI & AES M4 ¥ FNES 612,540
Ok® Nsdss = Wi
70,000,000 «2J4 2 140,000




He

SH N
S

ol

SADS W
nSAMNES 2el

mE=S

2N
X ZH -
L= B
el

o o o o o o o o o o o
o o (@] o o o o o o o o
QR 2 < < |«
-+ N~ (V] o (V] [QN] (V] (V] o o — —
n0 VI B IRV I\ N RN » | ® N RN
Klo q <1 d
E|
=)
o o o o o o o o © ©
9] 9] L0 9] o o o (@] (@]
< <t < < [«] [«] («) [Ye) [Ye)
sl |y |o o G | s | o
[e6) (o) < ™ (e} ™ » ()]
LH 3r -
uilEd
k=S
o o o () o o o o o o o o () o o (@) o o o o o o o o o o o o o o o © ©
o o o <t o o o o o o [Ye) [Ye) [Ye) Y] o [Te) o o o o o o o o o o o o o o o o o
S S S v 9o S o S 9 o|wlv|ln |l S W - o m S S o H |88 9|28 39 3 S|
o o o [aN] Y] o o w0 o) o Al Al ) [ep] — [aV] — Y] [<o] [<o] [e0] (<] [qV] N [QV) Y] o) 9] ) o o] o0}
aor
<
=
<4< T < < <4 = e <4 Ml ol ol =
= = — — — - o © =S < < N
S S = B ) S x ) = = v kU
X ogq [ « - @ - OF OF o
or w o o o 7 — 00w x o o W
™S S Z 9 oF * * 5 S S o =z 0
X0 o o 1S ) S o W <k OF S S S il s
S 8 Rg o kg 3 = o S 3 = S - Z oMo
BJ . = S S S . HAon 3o 1S S S — <
) s g %S gy _ fS xS g 8 I8 o 08 s M 3w
2 | SSwg _ B Mg g 2 L Mg _ _g K- Ha 0@ * Y w
o S w _ R 3 = O i S ¥ oA <
S = = < - a1 o H &
—_ 2 T T v
=z |H K ol u}] Rl ok < mﬂ mm M w_m mm
. Kk A oz 3. 3 - = =
=~ |m 10 H H H = R a3 = K R -
= R0 ol - H i o fay| = = 4 o o
o [uo — _— ulo Iy <l e = = — & o X
1) H ~ K I <k ™~ ™ - 0 K H
F | ot H o W - Kb 3 G| 4 i R RO
& o Fal 7 H lz|d ¥ oF oF - o T |3 i3 Z0 Kk T
. ok o oJ ) T 0|80 | RUOR =4 30 | B ok Kk & K
I B o 0 By | |B [ W RO RO 05 = |5 T |T B ORI K
® O O El O o o Hm T |oF &K KF Mo | wlw W O O
) © © UT | O © © Mo 3 |’ Z|< © -
. I — — — — K
g RUC[ 8D | oy < 30
i = | 0H
KF R0
0




M SANSH
Hu: #F2ARY
gl J23H(ZALED) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
HEFAFH 3,600 3,600 0
203 @R =&l 3,600 3,600 0
04 FENSELR=LH 3,600 3,600 0
ORN2IYSF=AHI 300,000& »12& 3,600
2 B2 A 29,306 29,666 A 360
201 L2l 29,306 29,666 A 360
01 At 2t 2l 28,406 28,406 0
o=l 4,608
OB+t 23,798
02 3322l 900 1,260 A 360
03323 % HA 200
O A& &EHl s Xl 700
04 dl 36,000 57,240 A21,240
202 O4dl 36,000 57,240 A21,240
01 = LH YI 36,000 57,240 A21,240
O =L di 36,000
HEES(SAILS) 310,000 300,000 10,000
HEAHH XIS (S AL ) 310,000 300,000 10,000
ZOI0IEEANHSEANEUHRNEL EEH d&E= 300,000 300,000 0
701 JIEtl HSHES 300,000 300,000 0
01 JIEtl AN ES 300,000 300,000 0
OXIIDIHY XA SH3IH &2 300,000
Z2ABNYNEIIS HES 10,000 0 10,000
702 JISEEZS 10,000 0 10,000
(O RIE=RSE—= 10,000 0 10,000
o=2BngAdIIZ MES 10,000
HRES(ZTARSH) 4,208,000 1,936,800 2,271,200
WEHAXS (A REDL) 4,208,000 1,936,800 2,271,200
FUHEELEIAN BES 4,208,000 1,936,800 2,271,200
701 JIEtSI HEEES 4,208,000 1,936,800 2,271,200
01 JIEteI HE &= 4,208,000 1,936,800 2,271,200
O=XE SE3H dE= 4,208,000




